



Louise Neville <nevillel@mdusd.org>

Tue, Jul 6, 2021 at 11:33 AM

### Estimate - Quote 7284 from Director's Assistant

1 message

Director's Assistant <quickbooks@notification.intuit.com>

Reply-To: Sales@directorsassistant.com

To: nevillel@mdusd.org

Dear Louise Neville,

Please review the estimate below. Feel free to contact us if you have any questions. We look forward to working with you.

Thanks for your business! Director's Assistant

------ Estimate

4848 Lemmon Ave. 504 Dallas, TX 75219 +1 9728076000

Estimate #:

7284

Date:

07/06/2021

Exp. Date:

\$23,841.57

\_\_\_\_\_

Address:

Louise Neville Mt. Diabolo Unified District 1936 Carlotta Dr. Concord, CA 94519

Sales Rep:

PPE

Activity	<u>Qty</u>	Rate	Amount	
Musician/Flute M	350	8.99	3,146.50	
Blowhole Mask, B	200	7.99	1,598.00	
Size 2 Merv-13 B	35	13.99	489.65	
Size 3 -MERV-13	370	13.99	5,176.30	
Size 5 MERV-13 B	140	13.99	1,958.60	
Size 7 Merv-13	45	14.99	674.55	
Size 8 Merv-13 B	175	14.99	2,623.25	
Size 4 Merv-13	400	13.99	5,596.00	
Size 9 -MERV-13	15	15.99	239.85	
French Horn Bell	35	19.99	699.65	
Size 12 MERV-13	40	19.99	799.60	
Size 17 MERV-13	30	19.99	599.70	
Size 26 MERV-13	8	29.99	239.92	

Total:

\$23,841.57

Purchase order or Payment must be received before the order will be placed.

Personal Protective Equipment may not be returned.

Estimate\_7284\_from\_Directors\_Assistant.pdf 38K

HOME PPE PRODUCTS CONCERT UNIFORMS MARCHING ACCESSORIES V TESTIMONIALS

MEDIA/RESOURCES CUSTOMER GALLERY CONTACT US

# PERSONAL PROTECTIVE EQUIPMENT FOR THE PERFORMING ARTS



At Director's Assistant, your student's health is very important. We have a wide variety of PPE for the performing arts available for immediate purchase. Whether it is the blow hole mask, bell cov Chat now

https://www.directorsassistant.com/ppe-band-products

HOME PPE PRODUCTS CONCERT UNIFORMS MARCHING ACCESSORIES V TESTIMONIALS

MEDIA/RESOURCES CUSTOMER GALLERY CONTACT US

## WELCOME BACK TO SCHOOL



# **PPE FOR BAND**



1-Ply Bell Covers XS-XXL \$14.99

View product



Blow Hole Mask \$8.99

View product



2-Ply MERV 13 Bell Cover

\$17.99

View product



Singer's Mask

\$16.00



**Musician/Flute Mask** 

\$9.99



Flute Foot Cover

\$7.99

HOME PPE PRODUCTS CONCERT UNIFORMS MARCHING ACCESSORIES V TESTIMONIALS

### MEDIA/RESOURCES CUSTOMER GALLERY CONTACT US



Aerosol Bag \$24.99

View product



Flute Shield

\$21.99

View product



Flute Performance Package

\$30.00

View product



Blow Hole and Surgical Mask Package

\$9.99

View product



French Horn Bell Cover

\$19.99

View product



Musician/Flute Mask and Surgical Mask Package

\$10.49

View product





